:L *
(Facing)

, 4

() (f2 (3 (f4)
2. f

4
1 (N)
(NFIN2 N3 N4
3.15
g2 = Nifi(nr vi)

qd
Spi !
\ 1 (Unit of facing)
f (Facing)



1 (Facing)

421
115(f, +12+ 14 +13fs < 120
0.1032Njfj + 0.1032N22 + 0.1152N3¥3+ 0.0960N44 < 2.25
38530

38530
51
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(Facing)
4.20



= = & =

12

24

96

48

90

(N*)
14

(N2
11



51

244.04
PA = 71-TC
= (1.94Dj +0.67D2+0.72Da+ 1.66D4)
-(1.4210f1+28.5527/f1+1.5162f2+11.7211/f+1.5876f3+16.6650/f3
+1.310414+5.2773/f4+1.3116f NUN ,-1)+33.2681/fIN1
+1.3932fN2AN21)+13.656 8 FN2+1.4652fNIN31)+19.4172/TN3
+1.2108FN4N41)+6.1488/FN4)
[

PA = (L1.94x113.08)+(0.67x46.2)+(0.72x66)+ (1.66x20.9)
-((1.4210x1)+(28.5527/1)+(1.5162x2)+(11.7211/2)
+(1.5876x4)+(16.6650/4)+(1.3104x2)+(5.277312)
+(1.3116xIx3x(3-1))+(33.2681/(1x3))
+(1.3932x2xIx(1-1))+ (13.6568/(2x1))
+(1.4652x4xIx(1-1))+(19.4172/(4x1))
+(1.2108x2xIx(I-1))+(6.1488/(2x1)))

= 244.04
51
No. f.h Ni n2 n3 nd T TC PA
1 1 1 1yWwliaNtlatisgNwvi]dvig Ta 3769 14054 192.15
2 1 1 ECuolaodicevden Hunvercessadd 139.89 192.80
3 1 1 1 1 1 1 1 3 3326 14371 188.93
4 1 1 1 1 1 1 1 4 3326 150.46 182.23
M0 1 2 4 2 2 1 1 1 33269 88.67 244,04

38530

(No.) 35480
(PA = 244.04)
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(Complete enumeration
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